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Answer all questwns
o Each question carries 1.weightage.
' ‘Diffetentiate between training and learning.

" Mention the outcomes of learning. -

SIS

 Briefly explain the Blooms Taxonomy. |
List out the importance of attitudinal training.

‘What are the objectives of TQM training ?

= R N

What do you mean by organizational development ? ° _ ‘
| | o . .( » A6 x.l——lGWeigh‘tag’e)
 Part B’ ‘ B
a Aris‘werf any foui of-the «'-followﬁ—ing questions.
Each question carries 8 weightage. -
7. What are the various factors conszdered dm ing training des1gri 2 Explain.
8. Discuss: about sybtematlc tralmng process in.detail.
9. What are the- different Off- The-Role trammg mefhods ? Explam
10. Explam the; lmportance of strategw human resource: dwelopment.
11.  Briefly explaln the Dav1d Kolb’s learmng model. -

12. Why leadership trammg is mevxtable in an orgamzatlon ? Explam
' (4 % 3 = 12 weightage)

- Tuarn over



13.
14.
15.
16.

17.

-18.

‘What are the non -formal methods’ of development ? Explam,

PartC R L

Answer any three of the followmg questwns
Each questzon ca:rrzes 4 wetghtage o

: Explam the prmmples of learnmg in deta11

Discuss on varlous factors consider during trammg de51gn

What do: you understand by appralsal of tralnmg executive ? ? Why 1t is necessary ?

‘ Why evaluation of training and development is unportant ? Explam

ECTE T ) (3 x4 = 12 weightage)
Parf D :(‘Compulsory:Questiohs) |

The question carries 6 weightage.

Case :

- Fred lecently became a manager at a local hardware store that employs about six managers: and .
55 nonmanagement employees. With the coming of the larger chains such as Builders: Square to

the area, the owner is concerned about losing many of his customers because he cannot compete on

" the basis of price, The management team ‘met and discussed its strategic response. If. determined

that the hardware store would focus on partlcular items of hardware and make personalized service
the cornerstone of its effort. Fred’s respon51b111ty was to train all nonmanagement employees in
good customer relations skills; he was given a budget of $70,000. The owner gave Fred a' number
of brochures sent to the company over the past few months.

' ,‘One of the brochures boasted “Three-day Workshop, $35, 000. We w111 come in and tram all: your

employees (maXImum of 50 per sessmn) 50. that any customer who comes to your store ‘once wﬂl
come again.” :

Another said, “One- day semmar on. customer service skllls The best in the country. Only $8; 000

) (max1mum participants 70).”

A third said, “Customer samsfactlon guaranteed on our customer satlsfactlon trammg for. sales -
clerks. Three day workshop, $25 000 Maximum participants 25 to allow for 1nd1v1dua1 help,”.

© Fred liked the third one, because it prov1ded personahzed training. He called the company-in to
- talk about its offering. The consultarnt said that by keeping the number small, he would ‘be able to

" provide actual work simulations for each of the trainees to practlce He also indicated he would

tailor the simulations to reflect the hardware store. ¥red noted they would need two sessions and
asked the consultant if he could take a few more per session to accommodate the 55 employees. The-

' consultant agreed. The trammg went ahead, and the cost was under the budget by $20,000.

Questlons
1. Do you agree with Fred’s ch01ce ?Why 7

‘2.  What else mlght Fred do before choosmg a trammg pa(,kage ? Descrlbe your approach in
‘some detaxl v v

3. If training went ahead as 1nd1cated how successful do you thmk it would be ? Explaln .
~ your answer using concepts from thxs chapter.- -

: (1% ’6’= 6-w_eight'age)
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